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Answers to odd numbered exercises for Chapters 1, 2 by Natalia Novak

Section 1.1.3 Exercises
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Section 1.2.5 Exercises
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Section 1.3.3 Exercises

1.

1 2 2
X 4
4 8 8
3.
{2}
1 0 4
X 7
7 2 8
5.
2 1 2
X 4 3
6 3 6
+ 8 8
9, 1 1 6
7.
1 3 6
X 2 7
9 5 2
+ 2 7 2
3, 6 7 2
9.
2 1 0 3
X 4 4
8 4 1 2
+ 8 4 1 2
9 2, 5 3 2



Section 1.4.2 Exercises
1. 8x8x8x8=28"
3.29=2x2x2x2x2=32
5. 07=0x0x0x0x0x0x0=0
7. 102 = 10 x 10 = 100
9. 02=0,12=1,2%=38,3%=27,5% =125, ..., 92 = 729, 103 = 1000, 1003 = 1000000.
Section 1.4.4 Exercises
1L VA9 =7
3. V169 = 13
5. v/64=38
7. /75 is between v/64 = 8 and v/81 = 9
9. /32 is between v/25 = 5 and v/36 = 6

Section 1.5.3 Exercises

1. 4x22=288
3. 3x17=51
5. 8x12=96

7. 712+101 =7R5

9. 3333 =111 = 10R3
11. 457 +41 = 11R6
13. 317+ 21 = 15R2

15. 712 + 21 = 33R19
33
21 )712
—63
82
—63
19

Section 1.6.1 Exercises

1. 6+16+4=6+4=10



3.15-9-4=6-4=2
5. 4x3x2+8-3=12x2+8-3=24+8-3=3-3=0

7.v21-30+6=21 -5=+16=4

9. 24+2x8—(4+4x3)=24+2x8—-(4+12)=2+2x8—(16)=2+16—-16=18 — 16 =2

Section 1.7.1 Exercises

L L+2+434445464+7 28
' 7 T

3 206+1§6+204 _ 6726:202

5. Note that there were 9 seasons: 2002-2009 and 2010 years.
5+6+2+104+9+4+6+5+7 54

6
9 9

Answer: on average, 6 games were canceled for the 2002-2010 seasons.

Section 1.8.1 Exercises

1. Two of these triangles make up a rectangle of 5” wide and 12” long. So, the area of the triangle is

1 1
half the area of the rectangle. A = 3 X 5x12 = 3 X 60 = 30 in2.

3. A=W x L =7 x 8 =56 ft2

5. The diagonal is a hypothenuse of a right triangle with legs 2 cm and 2 cm. Therefore, by the
Pythagorean Theorem, ¢ = 22 422, ie. 2 =8, ie. c=8. V4 < V8 <9, ie 2<V/8<3.

Answer: the length of the diagonal is v/8 cm, and it is a value between 2 and 3.

Section 2.2.2 Exercises

1. The picture has two whole circles and g of a circle. We can think of each whole circle as 6 sixths,

17
so altogether the picture represents 6 4+ 6 + 5 = 17 sixths, i.e. 5

3. Divide a circle into 4 equal parts and shade in three of the parts.

5. With circles, we would have a whole circle (6 sixths) and 5 sixths of a circle. So we need the same
picture as question 1, but with one whole circle removed.

6 . L2
7. We can represent 3 as 3 whole squares, since each square is 5: H+EH+H

9. Examples of five fractions that equal 0 are: —, —, =, —, ——

Section 2.3.2 Exercises

19 1
1. — =6< (because 19 + 3 = 6R1)
3 3
1
3. % =27 (because 135 + 5 = 27)
T 2
5. 5= 155 (because 77 + 5 = 15R2)
11+144+94+12 46 2 1
, e e R T L
7. average 1 1 1 2



Section 2.3.4 Exercises

1 1-24+1 3

1 1= = =2
2 2 2
3 15-8+43 123
3150 = —— 2 =%
8 8
s P _ 11645 71
6 6 6
11 22 44

Section 2.4.1 Exercises

L L.3_ 5
3 7 21
3. Two thirds of one thlrd_g é:%
5 3 5 15
33715 %
1 7 1 7 3 21
383728 1716

Section 2.5.2 Exercises
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1 10 2 3 8

3550710 15 40
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"8 88 16 24 80
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9 j 205 %
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108 10854 2
Section 2.6.1 Exercises
1.60=2-30=2-15-2=2-3-5-2=22.3.5, therefore 60 =22-3-5
3.81=9-9=3%s081=3%
5. 8 =517
7. The only numbers divisible by 3 in the list 60, 48, 81, 360, 85 and 154 are: 60, 48 and 360

Section 2.6.3 Exercises

1. GCF(72,48) = 24
3. GCF(72,36) = 36
5. GCF(36,15) =
7. GCF(15,14) =



Section 2.6.5 Exercises

36 3636 1

1. = = ==
72 72+36 2
3&714+271
T 48 48=2 24
14 14
5, — = —
15 15
- 48 48+12 4
" 180 180=12 15
9 105  105+21 5
C147 T 147 =21 7
Section 2.7.1 Exercises
S S
5 12.4 5 3 15
2 12 5% 2 1274 1 2 1 2
312.§ == 57.7: 7,:§.,.,:3
8 5 1 8 b5 1 8., 1 1 21
2 2 24 16
LZof2d=2.2"=""=1
5 30 377110
=4
w92 3 87 T 1M 2
3 4.4 3

3 2 1
9. If the tank is only three-fifths full <3 of the aquariums capacity), then we need to add 5 of 125

2 1 2 25
gallons of water. So, we get 5 125 =5 3= 5 gallons.
Section 2.8.1 Exercises
1 3 4
1. - +=-=-=
5 + 5 5
11 13 8 32 2
. — —_ —_— = — = 2—
3 15 + 15 + 15 15 15
g o4 _ 1
13 13 13
109 11 98
7. — ——=—=14
7 7 7
9 E_,_g Ll_ 10+6-11 1611 _5
R 7 ST T

Section 2.8.4 Exercises
1. LCM is 50
3. LCM is 150
5. LCM is 36
7. LCM is 102
9. LCM is 72
11. LCM is 28



13. LCM is 3*-52.72.11
Section 2.8.6 Exercises

1 3 1¥0 3% 6415 21 7

1 o4=——4° = ==L
56 bxs 6x5 30 30 10
LCD = 30

153 2 47 2
3. S ;=

Lo 3 3 3

LCD =3

2><20 3><15 4><12 B 133 B 213

5. + + =2 _ 9%
3x20 4x15  Dxi2 60 60
LCD = 60
7 L? 3_17+17 i_l 3_1><50 3><3_£
51 50 B5lo1z 50 3 50  3xs0 50yx3 150
LCD = 150
9 11*5_3_55—2_§_23
" 5.5 25 25 25 25
LCD = 25
X6 _
g, 30 L _ 18-l 1T 5
2.6 12 12 12 12
LCD = 12
11><5 2><4 _ 4
13. _ B5—8 AT

20x5 2544 100 100
LCD = 22.52 =100

Section 2.9.1 Exercises

1. Use LCD = 72. Decreasing order:

)

ool w
W =

O i~

5 7
3. 12 is less than TS The LCD is 48.
5. The price went up.
Section 2.10.2 Exercises

1
1. 2

Section 2.10.4 Exercises



1
7.3
33

1 3 36

2
. +1-=36+-=—-=-=24
9. We need 36 5 36 2 T3

Answer: 24 of these pieces can be cut.

Section 2.11.2 Exercises

L S
3 2 76
140 =1

3 11—1—10:111

)

11 13 1
12— —-2—=10—
b 15 20 012

12-2 =10

11 13 44-39 5 1

15 20 60 60 12

7124 _ 4
3 13 39
1-1=0
2 4 26-12 14
3 13 39 39
g 11_3_8_3_5
77T 7T 7T 7
6 11 79
11.3?—5_2871

3-0=3; borrow 1 from 3, getting 2
16 11 13 11 156-77 79

712 7 12 84 84
Section 2.11.4 Exercises
1.9ft4in-6ft7in=8ft16in-6ft7in =21t 9 in
Answer: The length of the leftover pieces is 2 ft 9 in.

3. (a) The total length is 2 hrs 30 min + 2 hrs 15 min + 1 hr 45 min = 5 hrs 90 min = 6 hrs 30 min
(6) The average is the total divided by 3. Answer: 2 hrs 10 min.

Section 2.12.1 Exercises

"4 379 4 3.4 9 42 4 4 4
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= — | —2=4--2=2-
3 (4+32> 2 1 2 1

0+3=3
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b T 5Jr 2 3+8 5 2+2 2 7
. 3 1 7 1

7. The perimeter of a rectangle P =2W + 2L =2 - 11 +2- 25 =3 +5= 85 ft.



